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BT 4 | A 5K 7 % > myOT 4 | M 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
Bw 1T A 245 280 302 582|T 4 WHAT5 T H 527 618 622 1,240(% BT 7 T H 1,136 1,553 1,372  2,925|HiARHT3 T H 214 291 286 577
B W 2T B 363 396 396 792|F 4 WEAT6 T H 365 404 412 816|%r BT 8 T H 446 559 570  1,129|/h | 4,396| 5,468| 5,541 11,009
B w3 T A 294 351 359 710 s 9,264 11,013 10,962 21,975(# BT 9 T H 1,017 1,266 1,114 2,380 {%E1TH 103 107 111 218
FE4ET1T B 139 154 135 289 |k IE 588 651 698 1,349[RSHT1 T H 130 123 121 244| —RE2T H 299 359 369 728
FasET2 T B 101 90 95 1855 L HT 1 T H 302 412 403 815K JAET2 T H 373 413 368 81| _{RE3 T H 271 331 350 681
PE4ET3 T B 120 140 173 33|% M2 T H 591 683 657 1, 340 5 8,275| 10,413| 9,378 19,791 | fRR4T H 130 141 165 306
£ L HT 281 284 297 581|% T3 T H 1, 396 1,510 1,457 2,967 | 0BT 1T H 774 922 889| 1,811| {RESTH 95 125 126 251
N HT 417 435 446 881|% E T4 T H 693 766 738 1,504 |30 AT 2T H 294 385 356 4R H 1T H 72 83 81 164
fip L) 217 231 249 480( K P9 1 T H 769 911 898 1,809 ({r[ D BT 3T H 231 268 269 537|R 2 T A 127 164 158 322
1= T 122 119 133 2521k F4 2 T H 317 413 395 808 [ BT 4 T H 719 731 703|  1,434|R H3 T H 118 131 125 256
* F W 179 219 233 452| K 9 3 T H 674 824 845 1,669 ({rf D BT 5T H 717 734 745 L4794 & A mT 184 184 207 391
= fF HT 435 475 535 1,010|# A 421 389 472 861 |7 ET6 T H 1,214 1,374 1,340 2, 714|@ & 1 T H 58 59 61 120
K o WE HT 487 568 584 1, 162|4 52 430 525 559 1,084 (3BT 7 T H 1, 080 1,093 1,135 2,228(#0 & 2 T H 74 82 84 166
W/ Lk Hy 309 313 335 648| A% F1 T H 256 328 319 647 ({7 D AT 8 T H 761 898 731 1,629 & (L 36 62 79 141
KB HET 517 612 609 1,221|K % F2 T H 246 342 350 692 [T I BT 9 T H 932 924 996  1,920|/h aH 1,567 1,828 1,916 3,744
HmEfiE1T H 209 233 247 4804 F 1 T H 459 685 632 1,317 (50 BT10 T H 845 798 769  1,567|® M 1T H 414 289 340 629
HmEfnHE2T H 284 332 352 6844 F 2 T H 83 104 100 204 Ea 7,567| 8,127| 7,933| 16,060|% [ 2 T H 87 100 100 200
HmFnHE3T H 310 399 408 807|454 % 3 T H 327 458 421 89| & 1 T H 181 198 220 418|'E [ 3 T A 273 195 204 399
Ft 5,029| 5,631 5,888 11,5194 F 4 T H 531 730 682 L412|E #& 2 T H 932 1,291 1,195 2,486/ K1 T H 90 123 103 226
B AKRTL T H 226 283 283 566|454 3 5 T H 462 632 603 1,235(% #& 3 T H 333 442 436 878/ R2T H 48 57 64 121
By AmT2 T H 361 424 433 857 2t 8,545 10,363 10,229 20,592(4 # 1 T H 1,277 1,477 1,490  2,967|/NE@ K3 T H 179 235 230 465
B KET3 T H 203 277 282 5593 # #fE 1 T H 476 476 532 1,008(4 #H 2 T H 974 1,106 1,214 2,320|/hr A4 T H 232 190 258 448
EWM1TH 707 738 779 LTI & M2 T H 825 839 876 L715(4 # 3 T H 862 1,004 1,007 2,011|/h& A5 T H 73 83 98 181
Ei2TH 709 881 904 1L,785 |3 & M3 T H 1,088 1, 150 1,099 2,249|4 4 T H 0 0 0 O R 1T H 205 171 213 384
EW3TH 383 537 529 1,066 |3 & M4 T H 725 708 734 1,442(4 # 5 T H 176 54 155 209/ R 2T H 259 340 313 653
Ei4TH 788 888 992 1,880 |3 & M5 T H 925 956 948 1,904 G 4,735 5,572 5,717 11,289 R 3 T H 414 238 393 631
EW5TH 529 534 584 LB & M6 T H 354 393 370 763 [/)n | 51,080 59,205[ 58,247 117,452/ G 2,274 2,021 2,316 4,337
E e T H 152 206 215 211 »m1 T H 430 496 487 9834 1 T H 344 435 407 842t A1 T H 269 213 296 509
EW7TH 470 550 484 1,034[#8 » fi2 T H 801 754 865 1,619 2 T H 426 495 515 1,010(pk A 2 T H 390 290 284 574
E 8T H 254 319 304 623 |ffi [ BT 1 T H 335 427 390 817|140 th 3 T H 430 559 558  1,117|gk A3 T H 110 142 137 279
EW9TH 3 5 3 8[if [ BT 2 T H 696 845 849 1,694(Ffn HET LT H 215 273 272 545(p A 4 T H 61 61 60 121
KHET1TH 309 377 366 743 |fifi fd BT 3 T H 545 584 541 1,125(Ffn HET2 T A 264 324 356 680(a A5 T H 77 87 83 170
KHEET2T H 337 346 323 669 |ffi [E BT 4 T H 465 458 449 97|#E 4 1 T H 140 192 193 385|pk A6 T A 38 53 52 105
RKHEBT3T H 302 406 373 779 Gl 7,665 8,086 8,140 16,226(fF # 2 T H 162 196 223 419\ A7 T A 73 92 95 187
K HEWT4T H 315 398 403 80L|¥r M7 1 T H 1,126 1,437 1,313  2,750(t 4 3 T H 178 232 221 453\ A8 T A 105 139 110 249
KHEET5T H 297 369 376 74508 BT 2 T H 700 931 801 1,732(HE 4% 4 T H 209 259 244 503 [/ 1,123 1,077 1,117 2,194
T4 W1 T H 683 793 808 1,601[08r BT 3 T H 1,474 1,715 1,500 3,215(#F # 5 T H 486 636 644| 1,280|H 88 Af A #F|  9,360| 10,394 10,890 21,284
T WHET2 T H 520 640 616| 1,256|% M7 4 T H 663 790 774 1,564 |HE # 6 T H 481 655 582|  1,237|& 2+ 60,440| 69,599 69,137| 138,736
T WERT3 T H 393 508 430 938[%¥r BT 5 T H 1, 107 1,486 1,324 2,810 |4l AR BT 1T H 372 474 470 944
T WERTA T H 431 512 441 953[%¥r BT 6 T H 103 140 121 261 |4l AR BT 2T H 475 447 570 1,017




